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1. (a) WhatisPermanent Account Number (PAN) ? Is it mandatory for every person to obtain

PAN ? 4

(b) Rohit Verma, a citizen of India, is a renowned medical surgeon. He obtained his professional
degree from All India Institute of Medical Sciences (AIIMS) Delhi in 1996 and set up
his nursing home in Delhi in 1999. Besides practising in India he visits foreign countries
regularly in connection with his medical pmfcssiuﬁ. During the previous year 2016-17
he was out of India for 180 days and during seven immediately preceding previous years

he was in India for 700 days in all.
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He reports the following income for previous year 2016-17 :

Income from Medical Profession in India Rs. 12.00.000
Income from Medical Profession in Dubai Rs. 8.00,000
Dividend Income from Indian Company ' Rs. 13,00,000

Capital Gains from sale of House Property in Dubai, remitted to India Rs. 6.00,000
Interest on Savings Account with a post office in India Rs. 13,000

Compute Rohit’s gross total income for the Assessment Year 2017-18. 7
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Is previous year always a 12 month period ? State any fwo instances where income

of a previous year is assessed in the previous year itself. 4
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(b) Harmeet Kaur is a person of Indian origin, settled in Canada. During the financial year

2016-17 she came to visit India on 30th September and went back to Canada on
30th March, 2017. During the previous year 2015-16, she visited India for 210 days.
Prior to that she visited India during previous year 2008-09 for 210 days. For the previous
year 2016-17, the following was reported : :

Income from a business in India ; Rs. 12,00,000
Interest on savings account with State Bank of India in India =~ Rs. 35,000
Net Agricultural Income in India Rs. 6,00,000 ,

Harmeet spent Rs. 12,000 on the medical treatment of her dependent brother who is
suffering from blindness (100% loss of vision). Compute tax liability of Harmeet for the
assessment year 2017-18 assuming she is 65 years of age. - 7
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Anshika, aged 58 years, is employed with ABC Ltd., the remuneration includes :
() Basic Salary—Rs. 80,000 p.m.

(i) Dearness Allowance—10% of basic salary (forming part of Retirement Benefits)
(iif) House Rent allowance—Rs. 24,000 p.m. (rent paid Rs. 20,000 p.m. in Delhi)

P.T.O.
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(iv) Employer’s contribution to National Pension Scheme (NPS)}—Rs. 10,000 p.m. Anshika
contributes an equal amount every month.

(v) Motor car facility for official and private use. The car, 1200 cc, (cost Rs. 7,00,000),
 is owned by Employer. Running and madintenance cost of Rs. 1,10,000 p.a. is also incurred
by employer. Anshika pays Rs. 600 p.m. to the employer for use of this facility.

(vi) The only other income of Anshika is interest on fixed deposit—Rs. 82,000,
(vii) She paid/deposited :

(@) Tuition fee of Rs. 30,000 for 2 children

(b) Rs. 40,000 in S.ukan}'a Samriddhi Scheme

I (c¢) Paid mediclaim premium of Rs. 15,000 eaclh for herself and husband.

Compute Anshika’s tax liability for the Assessment Year 2017-18, 11
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Or
(3reram)
(@) Discuss the valuation rules for the furnished rent free accommodation in case of non-
government employees. 4
() X retired on 1st October 2016 after completing 26 years and 9 months and received
the following retirement benefits : '
()  Encashment of leave salary—Rs. 4,69,200 fnr unvailed leave of 306 days (He was
entitled to a leave of 35 days for each completed year of service and no entitlement
for part of year) ‘ ;
(i) Gratuity under Payment of Gratuity Act 1972—Rs. 9,42,000. Before retirement
his remuneration included :
(1) . Basic salary—Rs. 40,000 p.m.
(2) Dearness allowance—25% of salary (60% part of retirement benefits)
(3) Bonus—Rs. 5,000 p.m.
(4y Commission—Rs. 3,000 p.m.
Cnmpﬁte the taxable amount of retirement benefits, i.e. leave salary anﬁ
" gratuity. ' 7
(%) F frramE e R-gwd wEeRE # feg geaed e s
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Write a note on exemption available under section 10(5) in respect of leave travel

concession. 4

X owns 2 .huusas. First house, a commercial property was constructed on 15-10-2015
with a loan of Rs. 10,00,000 raised on 1-4-2013 @ 12% p.a. The entire loan was
repaid on 31-3-2{}16.‘This house was let out on a monthly rent of Rs, 25,000 from
the beginning. On 1-6-2016 rent was raised to Rs. 28,000 p.m. The house remained
vacant for 3 months starting from 1-1-2017 during the previous year. The other details

of the house are :

Municipal vaiui: | | " Rs. 2,50,000 p.a.
Fair Rental value ' Rs. 3,12,000 p.a.
Standard rent : Rs. 3,00,000 p.a.
Municipal taxes paid Rs. 25,000
Repairs | _ N Rs. 39.000

The second house is occupied by X for his own residence. This house was purchased

" on 1-1-2012 with a loan raised from SBI Housing Finance repayable in 240 equated

monthly instalments [EMIs]. During the previous year 2&16—_1? X paid aggregate EMIs
of Rs. 2,83,000 which included principal amount of Rs. 80,000 and remaining
towards interest. Fair rental value of this house Rs. 3,00,000 and municipal taxes paid

Rs. 20,000.

X also earned long term capital gains on gold amounting to Rs. 3,00,000. Compute X's

taxable income for AY 2017-18. 7
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Or
(37

X and Y are partners in a law firm and share profit equally. "{‘I-nairr maintain their accounts

on cash basis and have prepared the following account for previous year 2016-17 :

Payments ' Rs. Receipts Rs.
"Rent of Office 6.00000 | Professional Receipts (16-17) 60,00,000
Salary to staff : 1800000 | Professional Receipts (15.16) 5,00,000
Office Expenses ' 4,00,000 Dividends from Indian Companies 12,00,000
Miscellaneous Expenses . 1200000 | Proceeds from sales of land 8,00,000
Purchase of Cﬂmputers_ 1,00,000
Expenses on sale of land 20,000
Purchases of office Furniture 2,00.000
Remuneration to X - 15,600,000
Remuneration to ‘I". : 15,00,000
Donation to PMNRF © 200,000
Bank Deposits - _E,SF},DM :
Total 85,00,000 - Total 85,00,000

Other information -

()

(i7)

(i)

(iv)

and machinery was Rs, 80,000 (rate of depreciation 60%).
Furniture was purchased on 1-1-2017. No other furniture item was there in the block
(rate of depreciation 10%).

Remuneration to partners is paid as per deed of partnership and the firm has fulfilled

Compute tax liability of partnership firm for the AY 201 7-18. 11
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X sells his commercial property situated in Delhi on 1-6-2016 for Rs, 50,00,000. Its stamp
duty value is Rs, 54,00,000. He spent Rs. 1,00,000 in connection with the transfer of this
property. This property was acquired by him on 15-10-1979 for Rs. 2,00,000, He incurred
Rs. 80,000 during the financial year 1980-81 and Rs. 1.00,000 during FY 2015-16 on the
improvement of this property. Fair market value of this property on 1-4-198] was Rs. 3,00,000.
X utilised the net sale proceeds as follows : 11
(/)  Purchased a residential house property in Delhi for Rs. 30,00,000 on 6-1-2017.

(#) . Invested Rs. 10,00,000 in the bonds of National Highway Authority on 10-1-2017.
(i) Donated Rs. 1,00,000 to Rajiv Gandhi Fuund.atinn_.

(iv) Gifted the remaining amount to his daughter,

Compute X’s tax liability assuming he has no other income and was born on
31-3-1957

FY ' Cost Inflation Index
1981-82 100
2015-16 1081
2016-17 1125
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What is not a capital asset ? 4

X Ltd. owns a block of plant and machinery consisting of three machines M1. M? and
M3. The following information is available in respect of this block

(i) Rate of depreciation—15%
(i) Written down value of block on 1-4-2016—Rs. 25.00.000

(i) A new machine M4 was acquired for Rs. 9,00,000 on 18-4-2016 and was put
o use on 12-12-2016.

(iv) Machine M1 was sold to a scrap dealer for Rs. 50,000 on 31-12-2016.
(v) Machine M2 and M3 were sold for Rs, 18,00.000 on 10-2-2017.

Compute amount of depreciation available for previous year 2016-17 and written down
value of the block on 1-4-2017 and capital gains/loss if any. Ignore additional
depreciation, 1 . o

(37) I =y 71 481 & 2
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(v) 31-12-2016 F1 M1 w3 Faret = 50,000 & § 3= & T |
() 10-2:2017 %1 M2, M3 18,00.000 % ¥ ¥t ¥
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(@) Discuss the provisions regarding set off and carry forward of non-speculative business
loss. 6

(h) Explain the provisions relating to clubbing of income of a minor child under section
64(1A). 5
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(@) Write a I_:-rie'f note on deduction under section 80 GG in respect of rent paid. 6

(h) Explain the meaning of ‘Agriculture’ on the basis of judgement delivered by supreme
court in the case of Raja Benoy Kumar Sahas Roy. 5
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